POLAR

SCREWDRIVERS AND BITS

4714 M 1/4" MAGNETIC BIT HOLDER

= Surface: Chrome plated finish with burnished ring.
= Material: Chrome-vanadium steel.

[ O
5704196+ Ml\/l MM G

| 4714-3014 015415 14" 10 60 23 20

4714 MC 1/4" MAGNETIC BIT HOLDER WITH
C-RING

= Surface: Chrome plated finish with burnished ring.
= Material: Chrome-vanadium steel.

D@@wc

HII\II\IHI I O
0t W A

| 4714-3114 015422 14" 10 60 24 20

4714 5Q 1/4" SOCKET WRENCH ADAPTORS

= Model with retaining ball.
= Surface: Sandblasted and oiled. Material: Silicon chrome-vanadium steel.

- (e

iy L A
5704196+ . MM G a
7

4714-4014 015439 14" 1/4" 25 20
4714-4114 015446 14" 1/4" 50 14 20
4714-4138 015453 3/8" 114" 50 20 20

| 4714-4112 015767 12" 1/4" 50 33 20

4814 1/4" MAGNETIC NUT SETTERS

= Surface: Sandblasted and oiled. Material: Silicon chrome-vanadium steel.

zu@@po

@ 5/16" BITS AND ACCESSORIES

4516 5/16" BITS FOR SLOTTED HEAD SCREWS
ISO 1173/2351, DIN 3126 C 8/3127
= Surface: Sandblasted and oiled. Material: Silicon chrome-vanadium steel.

[y AXB L Qry. A
5704196+ MM MM PCS. a

G
4516-0060 044644 1,0x6 30 1 8 1
4516-0080 013725 1,2x8 30 10 10 24
4516-0100 010984 16x10 30 5 18 24
16-0120 010991 1,8x12 30 5 20 24

4516 PH 5/16" BITS FOR PHILLIPS® SCREWS
ISO 1173/8764, DIN 3126 C 8/3128

= ACR profile for maximum bite into fasteners. ACR
= Surface: Sandblasted and oiled. Material: Silicon chrome-vanadium steel.

[y PH L Qry. A
5704196+ MM PCS. a

G
4516-1001 044651 1 30 1 8 1
4516-1002 013657 2 30 10 9 24
4516-1003 013664 3 30 10 10 24
| 4516-1004 011394 4 30 10 16 24

4516 PZ 5/16" BITS FOR POZIDRIV® SCREWS

ISO 1173/8764, DIN 3126 C 8
= ACR profile for maximum bite into fasteners. ACR
= Surface: Sandblasted and oiled. Material: Silicon chrome-vanadium steel.

v ==

[y PZ L Qry. A
ITEM NO. vVt MM PCS. G §

4516-2002 013756 2 30 10 9 24
4516-2003 013763 3 30 10 10 24
16 24

| 4516-2004 011325 4 30 10

iy

O o i
MM G

4814-5008 015729 8mm 1/4" 65 31 20
4814-5010 015736 10 mm 1/4" 65 37 20
4814-5011 015743 11 mm 114" 65 42 20
4814-5013 015750 13mm 1/4" 65 52 20

14-5014 018591 14" 1/4" 65 30 20

4516 TX 5/16” BITS FOR TORX® HEAD SCREWS

ISO 1173, DIN 3126 C 8
= Surface: Sandblasted and oiled. Material: Silicon chrome-vanadium steel.

O

© —

LT e g, A S
4516-4010 028910 T10 2,74 30 1 8 1
4516-4015 028927 T15 3,27 30 1 8 1
4516-4020 028934 120 3,86 30 1 9 1
4516-4025 028941 T25 443 30 1 10 1
4516-4030 028958 T30 5,52 30 1 n 1
4516-4040 010939 T40 6,65 30 10 12 24
4516-4045 010946 T45 7,82 30 10 13 24
4516-4050 010953 150 8,83 30 10 14 24
4516-4055 010960 T55 11,22 30 5 20 24




